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T YT B & T a1 39 36 TUe0 Rt St USaid 3Tevd R o foh SHH Sig fod1 ®91, el
I eI I TS N YA MR A €l AR T 7, A 39 W wdieror yfent @ a5 o

FUA &N W T OMR SW-Uaeh W 3fod oM W Td & ofiv udterur Yieert STeh| A o
B &M ¥ Ud form fonedt o o fadnfa & o9 3iR deag & & et saficar it 1
fowdt ot v ot oen/fadmfa =t fearfa § sw-uses T &Y fear smom

39 a0 giEden W E1Y | T MU e | AT
YT SThish foremT &1 wer gl W eIk %8 7 foag

0 W giegert § 100 geAer (WeA) fRu mu ) g e e iR ofush Ml ¥ B 71w
IS H UR YR (S™W) KU MY F) T W U YRR ol A o, 9 Y S-wseh W 3ifeRd el
Ted 71 A% IR TH A TR G oAk YogeR WE ®, O SH YR I SAfhd Y S 3TR! TaH
| YAk YA & foIC et Th € GoqRR A R

TR ST T Y ererm W fRu T SwR-wre W e siferd v B sw-we 1 fRu w e 3w
et geAIel & ek TuH |

T UEd foh o9 Wi gt & fafv= geil & U SW-T9a W AfRd HE YE B, AR
TAY FHO-US o W Ui SR % SER TR sw-we ° <4 €

3T o |t T I SW-T9F H T & 9% A THeT & A W had SW-TAh Teieish
Tig | YR 19 T Te0 gk o W i STEf 2

Fed wM & AU o, Teror gfesh & of ® Hord g
TAd 3T @ fag qus
[T gl W SHiearR gRT feu 7w e SRt & few que feam smom

(i) W% Yo % T 9N Sehfeus S 81 SEHICER gR Yo% 99 & foig XU 7Y Uk e SwR h
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(i) % =+ SHER TH 9 3ffush ST a1 €, a 38 Tord ST OAE S, Tafy Ry e sw o 9
T S GE Bl ®, R ot 39 e & fory SugNER @ SH @e % us e S|

(i) A SHITIR g FE T Tt &l R S @ orefq SEiRaR g0 SW Al e S €, sS4
WA % g g gue & e s

W ¥ Gaifd e /3mata: afE o B @ § A o ISl okl Weifud S i STeedshd
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anubhav@nextias.com T - R HHhd 2l

e ek MUkl I€ UXISIUT YRaehT WieH ol 7 el WY a& deh 7 @iei|
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1.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES ORITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series A or B carefully and without any omission or discrepancy at the appropriate places
in the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable for

rejection.

You have to enter your Roll Number on the

Test Booklet in the box provided alongside.

This Test Booklet contains 100 items (Questions). Each item is printed in Hindi and English. Each item
comprises four responses (Answers). You will select the response which you want to mark on the Answer
Sheet. In case you feel that there is more than one correct response, mark the response which you consider
the best. In any case, choose only one response for each item.

You have to mark all your responses ONLY on the separate answer sheet provided. See directions in the
Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet, you
have to fill in some particulars in the Answer Sheet as per instructions sent to you with your Admission
Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.
Penalty for wrong answers:

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN
THE OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a wrong
answer has been given by the candidate, one-third of the marks assigned to that question will be
deducted as penalty.

(i1) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the

given answers happens to be correct and there will be same penalty as above to that question.

(ii1) If question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

Challenge the question: If students feel that either the question(s)/answer(s) needs to be modified or require
clarification, they can email at anubhav@nextias.com with supporting information by 5 February, 2024
(4:00 PM).

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE ASKED TO DO SO
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frafafea wuai w fa=m Sifa:

FUA-1: IRA & GG HT o =% 1 e
(India), 31Ifd@ 9RA & TA & T & &9
o ofofa e 2

FA-11: “9Ra HwE" IR IR TFeE”

H g § T oA SAHeAth 2l

S e B s A R A

i H T ©?

(a) -1 3R HeE-11 I T & 3R
FHUA-1] HoA-1 & fou Tel Taeieo €

(b) U1 IR weA-11 S W ® @R
FUA-11, HUA-1% fau w&l wie
Ei

(c) HUA-1TE 7 Afehd FHeH-11 7o 7

(d) HA-1TTerd ® feh sher-11 Tel 2

IR wif<h oeq stfufqam = gl o, f=fafea

FU R faamr sifsu:

1. o "o 3R T faum wwet § g
el o 9t faerE | afecneti & fag
R T 1 grEau™ 2l

2. HEg/faumEd & TEE gAE & 9%
Tt & fou amRfaa el i wHmE
(Rotational) womelt ® @F] feram S|

3. AR 99 2026 W YA g

ST wel § @ fohad wed wEl 27272
(a) e TH
(b) Haa I
(c) @t dH
(d) = T

ArRET | TR giufd & g3 o, fr=fafea

HoAl W faEr Fifau:

1. olegW HSE % SHfae R0 9
Hafyd Rera sad 939 & 98 7
T Thd 2

2. Ak fot =afe 3 w9 = fovrwifusr
o1 SooieH foRar § ot giEfd sH% Afaew
FEER hI ST F HHhA 2

3. 26 SHE 1950 T SYATT MU 9qRA &
e dfaum o 9fafa &1 weaE T2t
fopan = e

(4-A)

Swdh weAl W @ fRad wEt 272

(a) e TH

(b) Had JA

(c) It @

(d) T

aRd & ded ¥ fmAfafed | faur sifsa:
1. YT A

2. Adfiey faum

3. H
4, IufaH
ST A W fRae R § FE % S 3722
(a) e TH
(b) I A
(c) Had T4
(d) Tt =R

frfafea wo | fomr wifaw:

HYA-1: M Bl IRA T THAT I T

S © Sl 9 wdl @ faw gmE A

dfear 71

FA-11: 1961 H 70 gt & a1, ar

et AR Gigdr, 1867 i SRR W@

Swh weHl & Hay o FrAfeiEd 9 9 ®ik

1 9t 2?2

(a) HeF-1 @R weA-11 < W& § @R
FHUA-11 -1 % fore we) et @

(b) FA-1 3R weA-1I S TE B 3R
HYA-11, FIA-1 % U &l A< H
T 2

(c) HUA-1TE & AT FHer-11 Tora @

(d) HEF-1Ted © Wi HeA-11 9et B

a9 foasl & "' # f=fatad

FU R faamr wifsu:

1. SIR-TF 7 S foemg stfuf=m, 1956
% STER, Hdled —AEeE SHasad
Sl SAENYeRIol  (Inter-state  water
tribunal) &1 st T fRET +ff STa foamg
% Hay o foreht of SAfeehR &= w61 g
T
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Consider the following statements:

Statement-I: Article 1 of the Constitution
of India describes India, that is Bharat, as a
Union of States.

Statement-II: The term “Union of India” is a
wider expression than “Territory of India”.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-I

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is incorrect but
Statement-II is correct.

Consider the following statements with
reference to the Nari Shakti Vandan
Adhiniyam:

1. It seeks to reserve one-third of all seats
in Parliament and State Legislative
Assemblies for women.

2. Seats reserved for women will be
rotated after each election to the
Parliament / Legislative assembly.

3.  The reservation shall be effective from
2026.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

With reference to Ethics committee in Lok

Sabha, consider the following statements:

1. Only the members of the House
can make a complaint related to the
unethical conduct of a Lok Sabha
member.

2.  Committee can examine ethical
misconduct of any person if they have
breached the privilege of the House.

3.  Committee was not provided in the
original Constitution of India adopted
on 26 January 1950.

(5-A)

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

With reference to India, consider the
following:

1.  Customary Law

2. Subordinate legislation

3. Statutes

4. Bye-laws

How many of the above is/are source of law
in India?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Consider the following statements:

Statement I - Goa is considered as the only
state in India to have a common civil code
for all religions.

Statement II - After its liberation in 1961,
Goa retained the Portuguese Civil Code
1867.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-I

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is incorrect  but
Statement-II is correct.

With reference to the inter-state water

disputes, consider the following statements:

1. As per the Inter-State River Water
Disputes Act, 1956, Supreme Court
shall not exercise any jurisdiction in
respect of any water dispute referred to
a inter-state water tribunal.

www.nextias.com
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2. WaeE HEEE A A S
faarg srfufm, 1956 & dgd Tfea widt
R g Wi oTRet & faws
et off emhet @ g &l Far 2l

Sw wu W W HA /A HE 2/

(a) Had 1

(b) Had 2

(c) 1 32 <+

(d a1, 382

ORI qeeFaeen & §ed o, frAfafea
=l W faEr Fifeu:

1. HfHed

2. SU-FHEHEA

3. USME AMAH

4, fo<dg smaaeRt

SHw H 9 fhad Rl 1 Soai@ WA &
dfagam o & 272

(a) FIA TH

(b) wad

(c) Had o=

(d) =+t =R

frafafea & @ fom obmecta afafaal =t
AT FUH HLd B2

1. TSR TS shivel foem W ahmHsdy

gfafa

2. wfdea st Fgfe afafa

3. HEE™ HEel ol AiAHedd dfbfd
4, SHifde AME 1 "EEeed |t
5. frow @@ faem W Afmeda wfafa

ffafed |2 &1 T@m == 98 3| A
ERERCIIELE

(a) ad 2 3R 3

(b) wad 1, 2 SRS

(c) 1,2,48R5

(d 1,3,4 35

ORd § <IEdifese & 9]y |, freAfafea
Fol W faEr wife:

FA-1: 5& ot fedl &1 dfaa zwaa g
®, a1 ‘ueraTel @M 1 ¥Ron’ (Perception of
beingbiased)aﬁﬂﬂﬁﬁmwmw
A W 37l 8 Tehdl & a1 8 Hehdl o

10.

11.

(6-A)

-1 = e |, 1969 wRa

o qAfdER &1 wnfad w@ 9 T w6

Higdag w2l

SWw wUd & Haw H, fAfafed § 9

HIF W GE 82

(a) HeA-1 3R weA-11 3 H& & 3R
FHUA-11 FUA-1 % fou Tt Tt @

(b) weF-1 @R weA-11 S W& § @R
FYA-1I, FU-1 & U F& T
T ®

(c) HUA-1TE & AR FHeA-11 Tora @

(d) HEF-1Td € Wi HeA-11 9Et B

TR i HEE | Y6l & YHR & Ty H,

frafafad wul | faar sifsa:

1. =f@ & v & foes a1 wwa@ 7=f
AR S ST 2

2. fodt s Ot = fovg sifavam yeE
T A S Rl 2

3. T WG %l WhR Hil Th GhHR
Y WR &1 e 9 S 2

4, AfgyeaT® WG i WHR wH & fau
FH W FH 50 G & gHAT
SMEYIHA1 Bl 2

Sudh sl O @ fRad wEt 272

(a) o TH

(b) e

(c) =daa dH

(d) =+ =R

ORG | AR @H & §ed o, fr=fatad

R foar sifs:

1. 9 % =t (Fwf|) amar 5 oot
T T W H @A 2

2. 3k fodt = 3 dfoum & w9
FreEar 1 wee T 2

3. A% 9g%R Y dU1 WA & hlE
TRAT TR @est ¥ 379 AT
e = 2

4. A ¢ Ak g & A Y W B
e 39y ORI GEOR F@ 2

ST | § TRy feufd o, t arda Amie
AU AR @ Hehdl €2

(a) aed 1, 2 3 3

(b) e 2, 3 R 4
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2. Supreme court does not hear any
appeal against the orders passed by
water tribunals formed under the Inter-
State River Water Disputes Act, 1956.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2only

(c) Both1and?2

(d) Neither 1 nor 2

With reference to the Indian Polity, consider
the following terms:

1.  Cabinet

2. Deputy Prime minister

3. National emergency

4.  Financial emergency

How many of the above terms are not
mentioned in the Constitution of India?

(a) Only one

(b) Only two

(¢) Only three

(d) All four

Which of the following cabinet committees
are headed by the Prime Minister?
1. Cabinet Committee on Employment

and Skill Development

2.  Appointments Committee of the
Cabinet

3. Cabinet Committee on Parliamentary
Affairs

4.  Cabinet Committee on Political Affairs
5. Cabinet Committee on Investment and
Growth

Select the correct answer using the code
given below:

(a) 2and3 only

(b) 1,2 and5 only

(¢c) 1,2,4and5

(d 1,3,4and5

With reference to the judiciary in India,
consider the following statements:

Statement I: Whenever there is a potential
conflict of interest, a judge can recuse
or withdraw from a case to prevent the
perception of being biased.

10.

11.

(7-A)

Statement II: Judges Inquiry Rules, 1969
codify the rules governing recusals in India.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-I

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is incorrect  but
Statement-II is correct.

Consider the following statements regarding

the types of motions in Parliament of India:

1. Censure motion can not be moved
against a group of ministers.

2. A motion of no-confidence can not be
moved against an individual minister.

3.  Adoption of Adjournment motion is
regarded as a sort of censure of the
Government.

4. No-confidence motion needs the
support of at least 50 members to be
admitted.

How many of the above statements is/are
correct?

(a) Only one

(b) Only two

(¢) Only three

(d) All four

With reference to the loss of citizenship in

India, consider the following:

1. If a person resides in another country
for 5 consecutive years

2. If a person has shown disloyalty
towards the Constitution

3. If an Indian citizen of full age

and capacity voluntary relinquish
citizenship through his will.
4. If a person illegally traded or

communicated with the enemy during
war

In which of the situations stated above, an
Indian citizen can lose his/her citizenship?
(@) 1,2 and 3 only

(b) 2,3 and4 only

www.nextias.com
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(c) had 2 3R 4

(d) waa 1, 2,3 3R 4

Haurfier fagivaretl & wed o ffafea
R fa=r sifsw:

1. T & faifea gq@

2. fofea dfaum

3. Fug & yia Wt gmfesw e
4. T9 g TA & A vFEA w1 faasH
STE B ¥ fhadl dO IME YUmelt
Mmayash g 872

(a) “hed TH

(b) Had

(c) wHaa dH

(d) =+t IR

qRAd & WA H1 q@el ST & Hew
¥, frafafea fawai w faar wifs:

1. fan

2.  HESHe e
3. gfewm

4. HfY

SEw ¥ ¥ fead fawa dmel srgget w

Tradt g @ fewm @2

(a) “hed TH

(b) waad

(c) Had dH

(d) =+t IR

frafafed wo W foar sifsa:

FHeF-1: ] @ IR dre gfawd ¥ gfs

Y qRAT IR ISR § fREe o el 2l

FeA 11: di-e fawa ¥ gfg ‘sifew foqa

frawRi’ ( Risk-averse investors) & fag

‘gfeadl eI’ (Equity Markets) @1 &H

TS o Gehdl 2

STEw wUAl & day o, frefafea § @

HIF H g §?

(a) HUA-1 A HeA-11 3 T & 3R
FHUA-11 -1 1 & LR 2

(b) HEF-1 3R FHeA-11<H Tel € 3 wer-11
-1 1 T LI TEl R

15.

16.

17.

18.

(8-A)

(c) FUA-1TE € ifehd HeA-11 Terd 2|
(d) H¥F-17Ted © AR HeA-11 TE 2l

el stadE fas fafy (UIDF) & g]ed

T, frafafeg so wm foar wifew:

1.  3H$ I s feR 2 wd for 3
TRU H IRl Ul % GO aq [
ST

2. fafa &1 weua UE e W gm
T Stm@m|

3. IEY sEEEn fae ffy & were
‘grafieRal &9 U =gAar (Priority
sector lending shortfall) & 39T &
qegq § hi ST

St el o o frad Wt 2872
(a) o TH

(b) Had

(c) it

(d) e T

fas9 & (B-READY) T& 7 yq@ e
7, S =1 g1 wegd Y R @

(a) Tava =mUR Hired

(b) SR 7 HW

(c) Towa sufew @

(d) fawa s

ISt @ W qul ufaddea & gsd H,

frefafEa ) faur St

1. foda 9Nk o W@ H Jigl

2. ouEty ¥ To@ & fafma o«
srfeertar o et

3. 9RdE ®atE & fau aw ek
YR (ECB) ol @M & Fehal €l

SwtE § 9, IRA ¥ ot ISt wrar gfadred
% fohad ofaa fafeael & wed 2/2872
(a) “hee TH

(b) Had JA

(c) @t =

(d) =i &
fr=fafad oAt W fa=m wifsu:

FHUA-1: IART H oI FIHEA ASH 1 3exd
2025 Tk RGN fia <P wE R
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(c) 2and4 only
(d) 1,2,3 and4 only

With reference to the Constitutional features,

consider the following:

1. Elected Head of the State

2. Written Constitution

3. Collective responsibility of the minister
towards Parliament

4.  Sharing of power between Union and
States

How many of the above are essential features
of Parliamentary form of Government?

(a) Only one

(b) Only two

(c) Only three

(d) All four

With reference to the seventh schedule of the
Constitution of India, consider the following
subjects:

1.  Education

2.  Public Health

3. Police

4.  Agriculture

How many of the above subjects are part of
concurrent list of the seventh schedule?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Consider the following statements:

Statement-I: Increase in domestic and
international Bond yields can cause Indian

stock market to slide down.

Statement II: Increase in bond yields can
make equity markets less attractive for risk-
averse investors.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I.

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-1.

15.

16.

17.

18.

(9-A)

(c) Statement-I is correct but Statement-II
is incorrect.

(d) Statement-I is incorrect  but
Statement-II is correct.

With reference to the Urban Infrastructure
Development Fund (UIDF), consider the
following statements:

1. It will be used to create urban
infrastructure in Tier 2 & Tier 3 cities
only.

2. The fund will be managed by National
Housing Bank.

3. UIDF will be established through use
of priority sector lending shortfall.

How many of the statements given above is/
are correct?
(a) Only one

(b) Only two
(c) All three
(d) None

Business Ready (B-READY) is a new
flagship report introduced by the:

(a) World Trade Organization

(b) International Monetary Fund

(c) World Economic Forum

(d) World Bank

In the context of full capital account

convertibility, consider the following:

1. Increased liquidity in the financial
market.

2.  Decrease in the Rupee exchange rate
volatility in short-term

3.  External commercial borrowing can
become easier for Indian companies.

How many of the above can be possible
implications of full capital account
convertibility in India?

(a) Only one

(b) Only two
(c) All three
(d) None

Consider the following statements:

Statement-1: The objective of the PLI scheme
is to double Indian exports by 2025.

www.nextias.com
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oM 11: SR 9 €t diede (PLI) Fom & ST U § W B /A wel 2e?
& Ui wRa | fafda sl @ ‘gfgma (a) wad 1
fasnt’ (Incremental Sale) W ST&a € (b) Had 2
Wi ol & e § Pt § () 1 2 <
(d T, T2
1 T 7?2

19.

20.
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(a) -1 3R HeA-11<H Tel € 3 -1
FHeA-1 % foIy Tt Trdie 2

(b) HeA-1 3R FHeA-11 I T & 3R
FHYA-1 FoA-1 & faw T Tqsento
&l 2l

(c) HeA-1WE & Afeh HeM-11 e 2

(d) HA-1TTerd B Afeh sher-11 Tel 2

fefSea wimd & fau o9 Seas (ONDC)

% 9R ¥ fAfafad el | fo=amr i

1. 9% &4 35%9 R § 5-h19d a3l
% fou ‘fame eTIed’ (Regulatory
compliances) T HH HTA 2l

2. I% TSN dn fasmae & 9 TH
qoEY TR & &9 § wE Hl 2

3. fefSea =imd & fau oM™ “eas =
Ted, Tt 3-hivd adEe T ' dsiied
TR’ (Registered buyer) e fwdt
3 dgEREe W d9d a fasar @
I SR CHEA Lo

4. THRI [EAW ISR TA I
TrifTent HaTer gR1 i T 2

Stk W 9 farad wed T /27
(a) A Th
(b) waa A
(c) ad =
(d) =+t =R

G H HURS de dNR % Hay b,

frfafead wadl | fa=ar sifsa:

1. AR 9 99K &7 ®9 ¥ 9RAE
fistd §% (RBI) g1 fafafia g 2

2. 9Rd S WHR KU ISR IHh HARES
U1 IR Y el B

21.

22

23.

(10 - A)

HE WWHR F (EeAEgd § 9 A

IR ‘et ot o fewmn €2

l. g 99R ¥ I’ WER wfasgfaat

2. aifuifsgs ol i S fRT U ISH
foa

3. 9WRR gR fern @ «@l %0 (External
debt)

4.  WESTR G <ARIRE|

fafafad sz &1 99 R TE IW R
T FHIfS:

(a) ®aA 1

(b) e 1 3R 2

(c) a1, 2 3R 3

@ 1,2,3 34

focfta gen deom =0 (FSIB) & Hay H,

frafafed woAl | TR S

1. & TS W, S A i STEAel del
e |fEfd w6t TR W fRan T e

2. I8 WS &7 & okl qen |t
&9 & dmeRdist & vl @t ffE
& foau fawl s 2

3. 7e Troft & & Sl & wee @ FwE
T gediwd ff w2

Sudth wedl § o fhad wet €72

(a) A Th

(b) faw

(c) @t I

(d) = &l

freafafea woAl w faar wifsw:

FHA-1: IRA 7 TH ‘TEd oK TH Hal HL
G (Dual GST structure) =1 ST 2,
fogd &% T U9 T " 9 SN
(Common tax base) & d&d IMEl gl
FUF 11: IR Giau 3 $% td T <41
I T STTIA H TN Tehd H i I<h
&M T R
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Statement II: Incentives under Production
Linked incentive (PLI) scheme are based
on incremental sales from products
manufactured in India.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-1.

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-1.

(c) Statement-I is correct but Statement-II
is incorrect.

(d) Statement-I is incorrect  but
Statement-II is correct.

Consider the following statements about

Open Network for Digital Commerce
(ONDC)
1. Its main objective is to reduce

the regulatory compliances for
E-commerce companies in India.

2. It functions as an intermediary layer
between buyers and sellers.

3. Under ONDC, a buyer registered on
one e-commerce website may directly
purchase goods from a seller who sells
on another website.

4. It has been initiated by the Ministry
of  Electronics and
Technology.

Information

How many of the above statements is/are
correct?

(a) Only one

(b) Only two

(¢) Only three

(d) All four

Consider the following statements regarding

the Corporate bond market in India:

1.  Corporate bond market is primarily
regulated by the Reserve Bank of India
(RBI).

2. India’s Government debt market is
bigger than its Corporate debt market.

21.

22.

23.

(1M1 -A)

Which of the above statements is/are correct?
(a) 1 only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Which of the following liabilities of the

Central government are part of the “Public

debt”?

1.  Government securities issued in the
open market

2. Treasury bills issued to Commercial
Banks

3. External debt raised by the government

4.  Public Account Liabilities.

Select the correct answer using the code
given below:

(a) 1only

(b) 1and?2only

(c) 1,2and 3 only

(d 1,2,3and 4

Consider the following statements about
the Financial Services Institutions Bureau

(FSIB):

1. It was constituted  on  the
recommendation of a committee
chaired by PJ Nayak-.

2. It makes recommendations for
appointment of Directors of Public
Sector Banks and Public Sector
Insurers.

3. It also monitors and assesses the
performance of private sector banks.

How many of the above statement are correct
(a) Only one
(b) Only two
(c) All three

(d) None
Consider the following statements
Statement-I: India has adopted a dual

GST structure with the Centre and States
simultaneously levying it on a common tax base.

Statement II: Indian Constitution has
provided both Centre and States the power
to levy and collect taxes.
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STE ®YHAl & ey o, fefafea & @

S G FEl 7?2

(a) HEE-1 3R HeA-11 a1 T & 3R
FHo-11 FUF-1 1 T TTLHT T

(b) -1 3R FHeA-112H Hel & 3 -1
Fo-1 T TE TR T 2

(c) HUA-1TE & Afh HeF-11 Terd B

(d) hIA-1TTeId 2 oifep heA-11 Wl 2

frefafaa & 9 s @ fafafumfafafoat

feel -dfen faxfts w9t (NBFC) g1

& B S GRS 222

1. | S (Demand deposits) FHR
FHE

2. RU YEH KA

3. W@ meRd =& (Cheques drawn on
itself) ST AT

4. SR wfagfeai § frem

frefafed |2 &1 T@ = 98 W A

ERERCIIS S

(a) A 1

(b) hee 2 3R 4

(c) a1 3R 3

(d) wad 1, 2 3R 3

wWrée Ifed 9gd & dgd “wrRsu” &

gt & wed o, f=fafed wuAl W

fa=m wifsa:

1. HU & fEda don Hdled &t s1afy
‘fa’ (Incorporation) &1 fafer & 5
a9 § sy =T Bl =feul

2. & fmE & 9] § fedt of fox
o8 H TH 9 FRER 100 S
T 9 Afye &l M1 =eul

3. IO TS UEd ¥ HNR HFEE H
‘fomfsa & o @EHHT
(Splitting up or reconstructing) &l
foman g e =feul

UM WA ATdE AR gadga  faam
(DPIIT) ® ®WrEed & &9 H H=al o<
FH & fau swdw ® ¥ fFad 9mRs
(Criteria) STea¥deh @2

(a) “hed TH

(b) o A

26.

27.

28.

29.

(12-A)

(c) @t I
(d) = T

THidd JAE 3HT (UPl) fous gm

foerfaa foman o 2

(a) SoASTTRE T o Frefient wer

(b) fo "™

(c) R U graE f7m (NPCI)

(d) wrdR fafere gg=m gy

qed & Hed o, frefafed & @ @A

“IUSITE R hT FATAH FUH HLaT 7?2

(a) HA SEE H ISR ATHA
RIGNEI

(b) 18 I W Afysw MY & G o
SUSTIR =Afwal &1 gfaem|

(c) o9 9 H SUSFIR AfHAT &1 Jhawmd

(d) aUSR SAfFHA o1 Feifsa st o
e # ST

frefafed & 9 &M @ 9Rgyd =adeis

refered & ‘'If1 @ F=’ (Loss aversion)

% fagia & waiwm ol 9@ <eriar 8:

(a) U WIRR die YAl & &R0 e
HId STl IS Gl 2

(b) TH SUNH ofih § THM WITHT &
1w Il B

(c) ‘fafawar @ &1 fai= @eme’ (Financial
advice to diversify) ED deS[s, Teh
=i O § Wi g 9§ e 2l

(d) & UfREr gfg= & ‘IyEifian fae’
(Utility bills) &t 5= & faT ' Swi-3&
IYHN’ (Energy-efficient appliances)
o a9 w6 &1 Fofa o 21

B Bl H 9= | <@l T, (Teled Wik

o’ forae Hefa e

(a) worag UREadd § e ¥ wfa &
3o & Bq ' STafuer e o’
(Periodic review mechanism)

(b) ofvess Sa fafasd e wE @@
SATeh e

(c) fafa= <o o daq fowm @i &
FEIIT 1 oA

(d) fova W ¥ wifag Il &1 9@ 9ESR
gHfaa & 3g, fova w@mea 9wed
EARRE]
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Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-1.

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-1.

(c) Statement-I is correct but Statement-II
is incorrect.

(d) Statement-I s
Statement-II is correct.

incorrect but

Which of the following activities can not
be undertaken by a Non-Banking Financial
Company (NBFC)?

1. Accepting demand deposits

2. Giving credit

3.  Issuing cheques drawn on itself

4.  Investing in Government securities

Select the correct answer using the code
given below:

(a) 1only

(b) 2and4 only

(¢) 1and3 only

(d) 1,2 and3 only

With reference to the definition of “Startup”
under Startup India initiative, consider the
following statements:

1. Period of company’s existence and
operations should not be more than 5
years from the Date of Incorporation.

2. Its annual turnover should not exceed
Rs. 100 crore for any of the financial
years since its Incorporation.

3. It should not have been formed by
splitting up or reconstructing an
already existing business.

How many of the above are the criterias to
be recognised as a startup by the Department
for Promotion of Industry and Internal Trade
(DPIIT)?

(a) Only one

(b) Only two

26.

27.

28.

29.

(13 - A)

(c) All three
(d) None

Unified payment Interface (UPI) has been

developed by:

(a) Ministry of Electronics and Information
Technology

(b) Ministry of Finance

(c) National Payments Corporation of
India (NPCI)

(d) Unique Identification Authority of
India

In the context of India, which of the following

best describes the “unemployment rate”?

(a) Percentage of unemployed persons in
the total population.

(b) Percentage unemployed persons in the
population above 18 years of age.

(c) Percentage of persons unemployed
among the persons in the labour force

(d) Ratio of unemployed persons to the
employed persons

Which of the following scenarios best
illustrates the principle of 'Loss aversion'
from behavioral economics

(a) A shopper chooses a higher-priced
product due to its brand reputation.

(b) A consumersaves money by purchasing
goods in bulk.

(c) An individual avoids selling a stock
at a loss, despite financial advice to
diversify.

(d) A family decides to invest in energy-
efficient appliances to save on future
utility bills.

Global Stocktake Report, recently seen in

the news is related to:

(a) Periodic review mechanism to assess
the progress in addressing climate
change

(b) Assessment of global biodiversity
conservation efforts

(c) Evaluating the implementation of
Sustainable Development Goals across
countries

(d) Initiative of WHO to ensure sufficient
stock of COVID vaccines around the
world
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ol =idr & §ed o, fAfafed so ®

ﬁﬂﬂ'@!ﬂﬁl@:

1. < @dd 9Rd ® fog@ @ aret
THAT €1 HEER YN 2

2. e w wen § A sEm d
A T R

3. dieR id W fwEresd U8 S|
fafaerar mfvszor grr fohan <1 @1 2

Suth wedl o W frad wEt 2/

(a) “hed TH

(b) waa

(c) =+t d=

(d) I &l

fe & gay o, frefafed seAl = faEr

ifsTa:

1. Hog 9rd & 9+t 9" = | U
S 2

2. U = fewsdd e (Freezing
Temperature) 1 H&A &1 &Y Tohd H

3. 4 99 SqeartE & | U S| gl

4. WU $e (Kharai camels) J&Id: e
Y AiSH 9 FW R

ST weE 0 9 fha wEl 2272

(a) A Th

(b) wadA

(c) wHaa A

(d) = =R

AMIWH Fezu efafad § ¥ feas g
AR fagan T 2

(a) T=sha oTauy FEI =1 (WCCB)
(b) YR qR&H aA

(c) R har fafeareR wfusio (CZA)
(d) TS A=Al fRemed (DRI)
frfafaa ol | faer wifsu:

FUT-1: A Sl (Red Panda) w1 AR

& YHER el ¢ do1 98 g7 &9 9
a9 1 Yo Ll B

FHYF-11: A TSl H a1 37d & TY THh
IR U=F G5 Bl © de I8 &g Wi
ST 9§ T= HhT 7

34.

3s.

36.

(14 - A)

(a) FeF-1 3R weA-11 <A1 ®E 2 iR
FHA-11 FoF-1 1 & TTHH ©
(b) FUA-1 3R FeA-11 3 W& & oiR
-1 HA-1 1 &l TTEHT T @
(c) -1 TEl € Afer weF-11 ot @
(d) HLF-17ed © HUA-11 T ©

Tferer & Hed §, guER H ST <@l

IR N CE R EC e eI G o i

(New collective quantified goal) foHa®

Heifua 2

(a) 2030 T STAHIONT Toit i fewEsi
I T A R HT A

(b) s I I (Net zero emission)
F G FH B o Sfeees e

(c) dfyaess Sy foa @ed

(d) waq fowma @& & 9w 8 TeA
ST

TA & H Ry feu MU ‘Afgew e

fafaaar wwas fafa’ (Global Biodiversity

Framework Fund) & ¥§s" # frHAfafed

FeAl W faar wifvw:

1. SUR Yo afas  wafeRor gfaen
(GEF) g/ feran S|

2. T®  HAET-AfgId Aftgw w9
fafssrr @™ (Kunming-Montreal
Global Biodiversity Framework)
FHEeEA 1 gHA wom e st
St fafaear @eat (Aichi Biodiversity
Targets) =i Sfaeentad fean 21

ST sl § 9 B w8 T Be:
(a) Had 1

(b) Had 2

(c) 1 3R 2 T

(d a1, g2

frefafaa g | foem sifsy

1. =Aifad AU ;. wig

2. off AEA g4 : STHAY
3. Popi¥ME AN : SOH
Sudte g o 9 fead we @Y €2
(a) A Th

(b) Had I
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In the context of Project Cheetah, consider

the following statements:

1.  Cheetah is the only large carnivore
species that went extinct in independent
India.

2. Cheetahs have been introduced in
Kuno National park from Kenya.

3. Project Cheetah is being implemented
by the National Biodiversity Authority.

How many of the above statement(s) is/are
correct ?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements regarding

the Mangroves:

1. Mangroves are found in all the coastal
states of India.

2. They can not withstand freezing

temperatures.

3. They are found in the coastal intertidal
zone.

4. Kharai camels primarly feed on
mangroves

How many of the above statement(s) is/are
correct ?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Operation Kachchhap is launched by which

of the following::

(a) Wildlife Crime
(WCCB).

(b) Indian Coast Guard.

(c) Central Zoo Authority of India (CZA)

(d) Directorate of Revenue Intelligence
(DRI).

Consider the following statements:

Control  Bureau

Statement I: Red Panda has a largely
herbivorous diet and feeds primarily on
bamboo.

Statement II: Red Panda has a herbivore’s
digestive system with a long intestine and
can easily digest bamboo.

34.

3s.

36.

(15 - A)

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I.

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-1.

(c) Statement-I is correct but Statement-II
is incorrect.

(d) Statement-I is incorrect Statement-II is
correct.

In the context of environment, the term

“New collective quantified goal” often seen

in the news is related to:

(a) Roadmap to triple the
renewable energy by 2030

(b) Global timeline to meet Net Zero
Emissions

(c) Global climate finance target

(d) Intensified roadmap to achieve the
Sustainable Development Goals

share of

Consider the following statements with

reference to the recently launched Global

Biodiversity Framework Fund:

1. It will be managed by the Global
Environment Facility.

2. It will support the implementation

of the Kunming-Montreal Global
Biodiversity =~ Framework  which
replaced the Aichi Biodiversity
Targets.

Which of the statements given above is/are
correct:

(a) 1 only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Consider the following pairs.

Nuclear Related
Disaster country
1. Chernobyl disaster France
2. Three Mile island Germany
3. Fukushima disaster Japan

How many of the above given pairs are not
correct?

(a) Only one

(b) Only two
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(c) =+t =

(d) =i &

A & ° wHEr H @ T fFEE 108"

frag gefd 2.

(a) TAEROT Gaet omqudl & U &
3q ‘R ™ ¥’ (Complaint
hotline)

(b) T & T AT 9T ARV § AR A
e

(c) ISl dielf Rl e Bq STEHdl SARTAH

(d) 108 TgfeAl aTct FHHIA I Th 5 [ohed

‘e TR’ (Gambusia Affinis) & aR

¥ frfafga we W faer wifs:

1. ‘#w=s8 & &’ (Mosquito larvae)
% fEfE w0 & fog Sfaw wis’
(Biological agent) & ¥4 H TR
=AU ®9 Y ITEM foman S 2

2. IE UfYEHt S kT Tk TR wenfd €

ST weE § W B qUd wEl 2R
(a) ad 1

(b) Had 2

(c) 1 3R 2 <Ml

(d Id@1,T82

frefafad W foar sifea:

1. Weml T@EHS g9 (Photochemical
Smog) ¥iderel= TEHl & q ffta
eral ©, forivd: gl § S qroae
FH T T

2. A ‘yemr TEEbe gy’
(Photochemical Smog) & U@ Fahi
49w 2l

freAfefead wom 9 ¥ % T8 g 2R

(a) Had 1

(b) ®ad 2

(c) 1 32 <+

(d @1, T2

frfafed wu W foem Fifsa:

FUA-1: URA § g qen sfiuefig diel W

o 99 ST HHET S B

41.

42.

(16 - A)

FA-11: 9@ a9 Ifufem 1927 &
3TUR, WRY 3cafd (Plant origin) @& ¥t
‘I-ZARA! S a9 SR’ (Non-timber
forest produce), o8 9 3K (Minor forest
produce) gl
(a) HUA-1 IR weA-11 <A1 W& & 3R
HeA-11 -1 1 TEl TSR €
(b) FHA-1 3R FHeA-11 e T & 3R
FHOF-11 HoF-1 F TE TR el §
(c) HeF-1 W&l & Afeh HeE-11 Tord @
(d) FUA-1 TAd B AfeRT weA-11 T §

Fase difen (W9 disH) & 6 H,

fr=fafea woAl W faer wifs)

1. & aft ®m wa ¢, 5o aHed o
Teel § YAt AN W aed fawmE =i

2. ‘'faem emMIEEE’ (Silver iodide)
ST FARE GieT § a1 <1 Gkl 2

STi werl W W HH /A w272
(a) waA 1

(b) =ad 2

(c) 1 @R 2 <=

(d I 1, T2

HIH U & Haq fawE @@ (SDGs)

% Hed ¥ fr=fafed sefEEal | faEr

EAISLES

I S q&a 9 gEr

. 9t o W, 9 geR &1 fger qen
Hafyd gg X H Iear@dd wH A

I, waq fowm & fau ‘ifo@ gamaa’
(Policy coherence) ® HHR I

frefefea fasedl & @ o @ Hefua gag
fosra @l #1 Teal & Wi gafed 2?2
(a) 1-9aq foshmd @& 13 (Sefery wrarE))
11 -5aq ok @ea 10 (TEaEaet §
HHT)
111-5aq fowm @ 17 (F&ai & fag
RIEC)
(b) I-Haq e <ied 7 (SR T W&o
F)
11-9aq_ foshr@ @ed 5 (ifTeh Tmma)
[11-9dq faem &g 4 (oot
fera)
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(c) All three
(d) None

"Namoh 108", recently seen in news, is

related to:

(a) Complaint  hotline to  report
environmental crime

(b) Tiger recently introduced in Dudhwa
tiger reserve

(c) Awareness campaign to protect native
plants

(d) A new variety of lotus with 108 petals

Consider the following statements about

Gambusia Affinis:

1. It is widely used as a biological agent
for controlling mosquito larvae.

2. It is an endemic species of Western
Ghats

Which of the statements given above is/are
correct?

(a) 1only

(b) 2only

(c) Both1and?2

(d) Neither 1 nor 2

Consider the following:

1.  Photochemical Smog is formed during
the months of winter, particularly in the
morning hours when the temperature is
low

2. Ozone constitutes one of the major
components of photochemical smog.

Which of the following statements are

correct?
(a) 1only
(b) 2only

(c) Both1 and2
(d) Neither 1 and 2

Consider the following statements:

Statement I: Bamboo and medicinal plants
are considered as Minor Forest produce in
India.

41.

42,

(17 - A)

Statement II: As per Indian Forest Act 1927,
all non-timber forest produce of plant origin
are minor forest produce.

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I.

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-1.

(c) Statement-I is correct but Statement-II
is incorrect.

(d) Statement-I is incorrect Statement-II is
correct.

Consider the following statements with

reference to Cloud Seeding.

1. It works only when there are enough
pre-existing clouds in the atmosphere.

2. Silver iodide can be used in cloud
seeding.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Consider the following actions with
reference to the United Nations' Sustainable
Development Goals (SDGs):

I.  Improvement in energy efficiency.

II.  Significant reduction in all forms
of violence and related death rates
everywhere.

III. Enhancing policy coherence for
sustainable development.

Which of the following pairs correctly
matches the initiatives to the corresponding
SDGs?
(a) I-SDG 13 (Climate Action)
II-SDG 10 (Reduced Inequalities)
[I-SDG 17 (Partnerships for the Goals)
(b) I-SDG 7 (Affordable and Clean
Energy)
II-SDG 5 (Gender Equality)
III-SDG 4 (Quality Education)
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(c) 1-9ad foema @&d 11 (4R TR w6
M)
1 1-9qq o @1ea1 16 (wfa, = iR
ST HEA)
11 1-9aq fom &g 9 (=N, Fam=R
den gt )

(d) I-9aq faeema g 7 (I8 @ =
)
1 1-9dq farm @1&d 16 (30fd, = @&
ST HEA)
111-5aq foa @ea 17 (aei & o
TSR

Tiifeafast @3 & da9u o f=Afafead soat

R fo=aR it

FUA-1: Sl @ e w0 Sear gl 2|

FHeA-11: =l 9t TR (Trophic level) &

TAF SO U TR qk Fwad 10 Fiaw

TS TqATaRd B 2

T T % g et ¥ 9 e

o T @2

(a) -1 3R HeA-11 g1 T & 3R
FHUA-1] Fo-1 1 TE TR0 B

(b) FeA-1 SR FeA-1I S @ & oI
FHeA-11, HEF-1 1 TE TR T €

(c) HUA-1TE & AfhT HeE-11 Tord @

(d) HA-1TTeTd ® feh heE-11 Fel 2

AR ® Hed o, frefatea weEt

T faEmr =

1. ¥ YeherETet T €

2. I AgHeH TEee 1 ferieor X
Thd 2l

3. 3 U Heedqul Slesdteh & ®9 H
F T

SutE wel | 9 frad wEt 2/

(a) “hed TH

(b) FHaa I

(c) gt T

(d) =i T

45.

46.

47.

48.

(18 - A)

frefafaa o 9 w9 @ erfufem ot
TgHl H 9 b AT 9GRG H o G
STENT R TITYAT H1 TSR Il 272

(a) =T AfuFEME, 1853

(b) 9Rd THR A=, 1909

(c) 9Rd TR A=A, 1935

(d) 9Rd TER Y=, 1919

e sifyee A fefafea & @ fea
IMEeh ol “ g w1 T el T B2
(a) HiHIA

(b) TSRS o

(c) Taevull JUH

(d) TRfegaHq gam

afeh w1 & Hed o, frefafed wel ™

fo=mr =ifsa:

1. TSE afd AI=H ° TE AT
# foeg Touf +a of qen 3% W&
AT |

2. FoR H Pom A I e we T R

3. Tud 9% gmag ¥ §el U SUEg @

Sudw wu d 9 frad wE 2/
(a) “hed TH

(b) Had JA

(c) i

(d) = T

‘g Afeat, wEd Td Hifeaed @ R T
U W, TH ol geuf ¥ fom, T'
Tfex wre oy =1 wufda 108 fge <=t
¥ 9 o ugd qon Ged mewqul o fir
Srar 217

STEw #ed fefafea ¥ 9 feg A@fT &1
U LT B2

(a) ot TTNURET ST, i

(b) v AR, fawdfa

(c) TrvrE A, WEATAA

(d) TEATEETH AT, faeadaqe
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(c) I-SDG 11 (Sustainable Cities and
Communities)
II-SDG 16 (Peace, Justice, and Strong
Institutions)
I1-SDG 9 (Industry, Innovation, and
Infrastructure)

(d) I-SDG 7 (Affordable and Clean
Energy)
II-SDG 16 (Peace, Justice, and Strong
Institutions)

43.

44.

©Copyrightt NEXT IAS

[I-SDG 17 (Partnerships for the Goals)

Consider the following statements with
regard to an ecosystem:

Statement-I: The Pyramid of energy is
always inverted.

Statement-I1: Only 10 percent of the energy
is transferred to each trophic level from the
lower trophic level.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-I

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I s
Statement-II is correct.

incorrect but

With reference to the Cyanobacteria,
consider the following statements:

1. They are photosynthetic autotrophs.

2. They can fix atmospheric nitrogen.

3. Theyserve as an important biofertilizer.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

45.

46.

47.

48.

(19 - A)

Which of the following Acts provided
for the establishment of a Public Service
Commission in India for recruiting civil
servants?

(a) Charter Act of 1853

(b) Government of India Act 1909

(¢) Government of India Act 1935

(d) Government of India Act 1919

Which of the following rulers have been
described as “Lord of Dakshinapath” in
Naneghat inscription?

(a) Karikala

(b) Rajarajal

(c) Satakarni I

(d) Narasimhavarman I

With reference to the Vedic period, consider

the following statements:

1. Rajasuya sacrifice included a ritual
chariot race in which the rajan raced
against his kinsmen and defeated them.

2. In Rigveda, river Jhelum has been
referred to as Vitasta.

3.  Gandharva an upaveda
associated with Samaveda.

veda is

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

"Situated in an ethereal setting on an island
bounded by the two rivers of Cauvery and
Kollidam, this temple is counted as the first
and foremost among the 108 Divya Desams
dedicated to Bhagwan Vishnu".

The above statement describes which of the

following temples?

(@) Sri  Ranganathaswamy
Srirangam

(b) Venkateshwara Temple, Tirupati

(c) Chennakesava Temple, Somnathpura

(d) Padmanabhswamy Temple,
Thiruvananthapuram

Temple,
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49.

50.

51.

52.
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TSl 9l & 9gy H, frafafed ot o

¥ wH-G1 & =T 22

(a) AHMAEH & wges o fo=r & fag
Y TEY & a9y Wi g 2l

(b) ATHY TS YU * fawda, e
& = qrn o faatsa foean @ e

(c) SHIAEm & S 8 sIfafeal ara
g T

(d) wESRel ¥ ‘qufed TS0 A qEN
3MFHfA 1 FER FT Ffaam &1 @S H
T ot

e R faanl & ged o frefafea

Fol W fo=m Hifea:

. 95« g0 9 few o faeenl o
34 Us i areEs “Hon” S ge
fe@men T R

2. HuU a9Sf g H O & fage e
el ITAETEIT & TUH TSE9 |

3. ofed a9 9Rd ° WIYYH @l MY
fqeenl o @ T

Iodte el o 9 frad Wl 227

(a) oA Th

(b) waa

(c) @t

(d) *E T

g vt ‘ol fag o o feud
Hafyd 2

(a) TR el

(b) Tictehe! Jelt

(c) wiTel Vet

(d) =me e

fafeer wRa & <R Fefatead seet W
fo=m =ifeu:

el HiaWH TS & Aga | w fage
Jeer fagie

fag iR #g 5W Toura fasie &1 g
TFRA 30

b=

53.

54.

5S.

(20 - A)

IRY ¥ YE W gU 37 TARA H1 T
HTAHH T
(a) 3-2-1-4
(b) 2-3-1-4
(c) 3-2-4-1
(d) 2-3-4-1
freafafed arda asa gt ) faEr
HIfSTT:
Al YA Geleg WS /hTHshT
1. foimes 3eRT @ A e vrd
TR aqraret

2. AW =g 9E ;R TR Wi

3. Hifaqerar aeex : fegwm Rufsaea
TEIHTeH

: ‘C{d‘ITOI NEZINIEESI ||

4. gfes Ty
=T

Swfw el § § frad gofea ©/?
(a) ool TH H
(b) Had & W
(c) had g
(d) =+t =) gm

Tl gfdehenn et & Hed o, feAfafaa

Fodl § 9 HF 94 T8 282

1. e geer qen Wi Hfdeen fmior
?q STM & WH del ged yaEfed
qmiEr o)

2. U gfddl & gE, dtg o, s e
den S o9 ¥ getud €

frafafed |2 &1 W& ® FE S| F

EEERCAIELE

(a) Had 1

(b) Had 2

(c) 1 3R 2 T

(d a1, g2

aRd & 9k dd & Gay o, fefafeEa

FoAl R =R Hifem:

1. Hd war o afe e 9 91

2. WEH fagd & 9, d THERHE aREwd
Y@ 9 9 2
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51.

52.
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With reference to Harappan Civilisation,

which of the following statement is not

correct?

(a) Tracesofcanals forirrigation have been
found at Shortughai in Afghanistan.

(b) Unlike most Harappan cities, Lothal
was divided into three parts.

(c) Excavations at Kalibangan yielded fire
altars.

(d) Stone bust of a male figure labeled

discovered at

‘priest king® was

Mohenjodaro

With reference to ancient Indian coins,

consider the following statements:

1. Coins issued by Samudragupta show
him playing a musical instrument
“veena”

2. Kushanas were the first dynasty of the
subcontinent to mint large quantities of
gold coins.

3. Punch-marked coins are one of the
earliest discovered coins in India.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

The well known painting “Lady with Myna
Bird” belongs to:

(a) Tanjore school

(b) Golconda school

(c) Kangra school

(d) Bengal school

Consider the following events during the

British India:

1. Rampa rebellion led by Alluri
Seetharama Raju

2. Vellore mutiny

3. Santhal rebellion led by Sidhu and
Kanhu

4. Deccan riots

53.

54.

5S.

(21 -A)

The correct chronological sequence of these
events starting from the earliest is:

(a) 3-2-1-4
(b) 2-3-1-4
(c) 3-2-4-1
(d) 2-3-4-1

Consider the following Indian freedom
fighters:

Freedom : Associated
fighter organization/Event

1. Vinayak Damodar : Abhinav Bharat
Savarkar Society

2. Subhash : Free Indian Legion
Chandra Bose

3. Pritilata : Hindustan
Waddedar Republican

Association

4. Sachindra : Chittagong Armoury

Nath Sanyal Raid

How many of the above pairs are correctly
matched?

(a) Only one pair

(b) Only two pairs

(c) Only three pairs

(d) All four pairs

With reference to Mathura school of
sculpture, which of the following statements
is/are correct?

1.  Blue stone and stucco were the most
common materials used for creating
the sculpture.

2. Themes of discovered images belong to
Buddhism, Brahmanism and Jainism.

Select the correct answer using the code
given below:

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

With respect to the Bhakti saints of India,

consider the following statements:

1. Sant Kabir belonged to the Nirgun
Bhakti tradition.

2. Sant Tukaram, a devotee of Lord
Vitthala, is associated with Warkari
sect.
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3. WEN S TR HYeE | Heag 9l freferfaa wel o 9 %9 578 wE 2?2
ST el § 9 R Td 3R (a) o 1
(a) el T (b) Had 2
(b) Wﬁ (C) le’zﬁTZﬁ
(c) Tt o= (d a1, Tg2
(d) o T 60. TR HER | Sfeafad v “=iF wE o
. . . WHIfG" frefefea § 9 frag defua 82
6. UM T wWifeca & ded ¥, f=Afafaa
SRUMRAT (Debt holdings) T fo&R
TR fawa @ R 2
A L (b) T = & S AEAA (ASEAN)
2. Umsk fogia ;. @ foam FH R AUR AEERN H S| qau
3. fterrar powrA AREYE W R 2
ST g § o e T 27 (c) TH® Ted HH SHAR! TREA (PRC)
(a) P9 TF TH TE A al © fob dEad w9 e T
(c) T & 7w (d) =Ta9™ (Businesses) 39+ GiEme
@) +E A foaR = & el A9 WAl W R
® 2l
37 A T 61. T=fafea T semmt w foaem sifs:
(Saranjam System) § Heferd 8?2 ’ 8 . ’
0w R
b) W 1. U S |rEi-1 @ T —gITedl
( 2. U S HRE-2 : SHe
EZ)) % 3. U@ 9@ AF-3 9y @2
-IENHEA
58. 9Nd BIE EIGH ® N, FHAG THR R RETN I Fx
:Z[r?wm 9fd TR’ el IS 1 T3 o § 4 fed T it §2
(a)' - (a) e TH I
N (b) Had I FH
R (c) @ &= 7
Efl)) m"“i‘ &)
' 62. ekl wfafaat (MSCS) & day |
59. T & H e, si-20 (G20) 15 feoet e (MECS) = 9
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forer wwiem & Wed o, frefafed weAl

T fo=mr it

1. 9Rd 1 Sft-20 (G20) 3T=Ad 1
fawa ‘oged HEewn’  (Vasudhaiva
Kutumbakam) F&TII & foram = o)

2. “9Ra Heuy" A9 faSETR WEe &
“wheamr geaq” (Kalyana Mandapam)
4 ufid e

(22 -A)

frafafea FoAf W foar wifw:

FHUA-1: 98 ToF TehRl Afafael o 98-
wewl wEfqa  AfufTam, 2002 & T4
el Gfafedl & wEE ToER SR

S S

g fafrafia fean s =)
FoA-11: T giafaar (Cooperative
Societies) YT & Hfa€M &t Aidel AT
% qed Tk gHed! o 2l
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57.

58.

59.
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3. Lord Basavanna is associated with the
Lingayat sect.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

With reference to literature in Ancient India,
consider the following pairs

Book Subject matter

1. Amarakosha : Mathematics
2. Romaka Siddhanta : Astronomy
3. Lilavati : Poetry

How many of the pairs given above are
correct?

(a) Only one pair

(b) Only two pairs

(c) All three pairs

(d) None

Which of the following empire is associated
with Saranjam System?

(a) Gupta
(b) Imperial Chola
(c) Mughal

(d) Maratha

“Prati Sarkar”, a form of parallel government,
during the Quit India Movement was
proclaimed in:

(a) Ballia

(b) Satara

(c) Medinipur

(d) Ramgarh

In the context of the recent G20 New Delhi
Summit, consider the following statements:
1. Theme of India's G20 Presidency
'Vasudhaiva Kutumbakam' was drawn
from the Maha Purana.
2. The “Bharat
was inspired from the

name Mandapam”
“Kalyana

Mandapam” of Vijaynagar Empire.

60.

61.

62.

(23 - A)

Which of the statements given below is/are

correct?
(a) 1 only
(b) 2 only

(c) Both1and?2
(d) Neither 1 nor 2

The term “China plus One strategy” often

mentioned in news, is associated with which

of the following?

(a) Smaller nations spreading their debt
holdings to countries other than China.

(b) Nations altering and redirecting trade
partnerships towards ASEAN instead

of China.

(c) Position held by the People’s Republic
of China that Taiwan is an inalienable
part of China.

(d) Businesses broadening their operations
to locations other than China.

Consider the following National waterways:

Waterway : River /Waterbody
1. National

Water Way-1 Ganga - Bhagirathi
2. National - Hooghly

Water Way-2 : Narmada
3. National

Water Way-3 West coast

- Udyogmandal

- Champakara canal

How many of the pairs are correctly matched?
(a) Only one pair

(b) Only two pairs

(c) All three pains

(d) None

Consider the following statements regarding
the Multi State Cooperative Societies
(MSCS) :

Statement-I: MSCS are regulated by the
Central Registrar of Cooperative Societies
office under MSCS Act, 2002.

Statement-1I:  "Cooperative Societies" is
a concurrent Subject under the seventh
schedule to the Constitution of India.
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ST HUAl & Gay o Frefafaa § 9 S
1 TE ??

(2)

(b)

(©)
(d)

63. 9Rd & T FES v H TAfqa g
(Sengol) & T # frAfafed womi W
foar +ifsu:

L.

2.

ST wo W ¥ fRa wE 287

(a)
(b)
(©)
(d)

64. T@ & H YLE F T ‘93" (SHRESHTA)
I & Hayg ¥ freAfafga we | faEr

it

I.

2.

ST wo W ¥ A wE 287

(a)
(b)
(©)
(d)

65. fr=fafaa 3o W fo=mr Fifau:

1.
2.
3.
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FoA-1 R wUA-11 3 g8 & @R
FUA-11 HUA-1 HT & TR &
FUA-1 3R FHE-11 o T8 § IR
FHOA-11, HoF-1 1 T& TEHOT T ©
FHor-1 Fel § lfeh seF-11 Tord @

h -1 TTeld % cifehd eA-11 Fat %l

66.

e e < WEed | hded, Hal
TS TR & AR HT Yol ol

¥E R HI EaAdl K Gk ©, S
SIS | wdRh w Cwa s’ | 67
(Transfer of power) &I f&fya &l 2
‘= & UdteR W & Y W BT §
IHq T g fEerd B

Had TH
Had
|t
7 & 68.

TAHT 3L aten e o Sehwear
H% 1 G HE B
“foraraa & e Area 9™’ (Nodal
ministry) 31 e 2|

Had 1
Had 2
1 3R 2 |

Td 1,82
69.

B

Thi
RSkl

(24 -A)

4,  3HE
5. Had

Sww <o A 9, fhay @Et geam ufitug
(GCC) & W& &2

(a) wad

(b) e A

(c) Id ¥R

(d) @t =

frafafaa @ fea @ 3 s & o few

3T (Snow leopard) sl TUAT ‘TSI Teftah '

ifta e 22

(a) HSITEEM

(b) Twfitam

(c) IEfREA

(d) =

SE-3A-Hed cTeqeqed  (Bab-el-Mandeb

Strait), T AeeH & fAU % Hewgol

‘TurifeeR Fehiol A’ (Chokepoint) &, S @t

YR ol A ! WEl ¥ SEa g ™

SASHER & M 3R HF U I <9 feora &2

(a) fog IR gem

(b) TS WA I e

(c) TSeet iR =w=

(d) 3R ik gedt ena

YYEEST  SESE Sl = "El

sfm™  (PM JANMAN) feg ®va =

& foham = e

1. onfcart &= o We&® W TWER
FAferfadl gHfrad e

2. |t enfear afeml #t f:3e® gewe
BIECICHERETE]

3. fol9 ®9 9 SR SHASTAE SRl
(PVTGs) & fau foen, w@men wd
90T T Tgd B GHR HT

Sudwh weAl W @ fRa wed wEt 2272

(a) “hed TH

(b) HaA A

(c) =t =

(d) =i &

AA a9 & " ¥, FAfafead el ™

%ﬁrr{aﬁﬁrq:

1. I8 oW 99 9 9ed, fohdl TR g1
3T HdehTd % Afan ad § yeqa TR
St @1
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63.

64.

65.
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Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-I

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is incorrect  but
Statement-II is correct.

With reference to the Sengol installed in the
new Parliament building of India, consider
the following statements:

1. Sengol was a symbol of the path of
duty, service and nationhood in the
Great Chola Empire.

2. It is a symbol of India's independence
that signifies the transfer of power
from the British to Indians.

3.  Dharmachakra is hand-carved at the
top of the Sengol symbolizing justice.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements regarding

the recently launched "SHRESHTA"

scheme:

1. Its objective is to create centre of
excellence for technical education.

2. Nodal ministry for implementation is
Ministry of Education.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2only

(c) Both1and?2

(d) Neither 1 nor 2

Consider the following countries:

1. Iran
2.  Turkey
3. Bahrain

66.

67.

68.

69.

(25 - A)

4.  Oman
5. Kuwait

How many of the countries given above is/
are members of Gulf Cooperation Council
(GCQ)?

(a) Only two

(b) Only three

(c) Only four

(d) Allfive

Which of the following countries has recently
declared Snow leopard as their national
symbol?

(a) Kazakhstan

(b) Kyrgyzstan

(c) Uzbekistan

(d) Iran

The Bab-el-Mandeb Strait, a crucial
chokepoint for maritime navigation, connects
the Red Sea with the Gulf of Aden. Which
two countries are located on either side of
this strait?

(a) Egypt and Sudan

(b) Saudi Arabia and Jordan

(c) Djibouti and Yemen

(d) Eritrea and Saudi Arabia

The Pradhan Mantri Janjati Adivasi Nyaya

Maha Abhiyan (PM JANMAN) was

launched with the aim to:

1. To ensure road and
connectivity in tribal areas.

2. To provide free internet access to all
tribal households.

3.  Toimprove access to education, health,
and nutrition in Particularly Vulnerable
Tribal Groups (PVTGs).

telecom

How many of the above statements is/are
correct?
(a) Only one

(b) Only two
(c) All three
(d) None

With reference to the interim budget,

consider the following statements:

1. It 1is presented by a government in
its last year in office ahead of general
elections.
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71.

72.
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2. 3dfm o & foau g e gauties
HEeH T 2

3. fafem s #i SR |@fed & A99R,
‘Taeg &R’ (Ruling government)
3w aie o &g off S Ao e
T T "l 2l

Sute wedl § o frad wEt 2/
(a) “hed TH

(b) wad T

(c) @t I

(d) =g &l
freafafaa amoey = fa=r wifsu:
EOE

S

W

3l

==

=t

ST # | fat qod "<k g i enfy

e wrensti o s €72

(a) Had dH

(b) Had AR

(c) hadt U

(d) @t BE

frfafed g w— faar Hifsa:

TR |9TET oAl gRT Geleg, 99T

TET T ST

1. HE

2. T . iR

3. 3T : ZSRIEA

ST 9 fha g gafea 8872

(a) el Th I

(b) Hod I FH

(c) @t 94 g™

(c) #hig &l

“9t eI’ (Nari Adalat) & ®3H H,

frafafea waai w fa=mr Sifsa:

1. I ufeensti &1 ' SR-H/AR q9a’
(Cases of petty nature) & THIHM &
feru Sepfeuess frrra famor @9 oM
FH F TH Ted 2

Sk W =

: geH

73.

74.

75.

(26 - A)

2. U UEA TS & H UL Afgen ko™
R T fafyss dar i grh &
EARIERT

ST wuA § Q HH /A wEl 2R

(a) Had 1

(b) =dad 2

(c) 1 3R 2 g

(d I@1,TE2

“HE T (e =i =get), e we &

o diiferss Hehash 31’ (Gl tag) TSH fepan

™ 7, fhe 59 9 et T

(a) BETE

(b) weWreg

(c) siifeem

(d) Tl

ST WM & Hay # feAfated we W

fa=m sife;

1. SUwERfcaHT ST €W 9Rd & IW
q IW-UY=H 9 | qfeH Sehardl
faefisT (Western cyclonic disturbances)
% foru sweerE €

2. W %G & KA TEGTE WG o

SwisfEdg gt st T Twd 2
SwE HUA A W B /A G /E?
(a) ®aA 1
(b) Had 2
(c) 1 @R 2 <+
(d Id@1,TE2
fr=fafed g | faur wifsu:

T e )

IR FeTerHEn
1. =dt : S
2. HRE IATH s Oge =g
3. WS WAl -C |
STdE T o 9 frad gAfea 2272
(a) HIA TH TH
(b) Had I JH
(c) @+t T4 g™
(d) =g T
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2. There is no explicit constitutional
provision for an interim budget.

3. According to the
Commission's Code of Conduct, the
ruling government cannot include any

Election

major scheme in the Interim Budget.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following languages:
1. English

2. German

3.  French

4.  Arabic

5. Chinese

6. Hindi

How many of the above languages is/are
included in official languages of UN?

(a) Only Three

(b) Only Four

(c) Only Five

(d) AllSix

Consider the following pairs:
Operation carried by Associated
Indian Armed forces Country
1. Kaveri Sudan

2. Ganga Syria
3. Ajay Israel

How many ofthe pairs are correctly matched?
(a) Only one pair

(b) Only two pairs

(c) All three pains

(d) None

With reference to the “Nari Adalat”, consider

the following statements:

1. It is an initiative for providing women
with an alternate Grievance Redressal
Mechanism for resolving cases of petty
nature.

73.

74.

75.

(27 - A)

2. The initiative was recently launched by
the National Legal Services Authority
on National Women Day.

Which of the statements given above is/are

correct?
(a) 1 only
(b) 2only

(c) Both1and?2
(d) Neither 1 nor 2

Kai chutney (Red ant chutney), that recently
earned Geographical Indication tag, belongs
to:

(a) Chhattisgarh

(b) Mabharashtra

(c) Odisha

(d) Nagaland

Consider the following statements with

respect to the Jet streams:

1. Sub-tropical Jet streams are responsible
for western cyclonic disturbances in
the north and north-western parts of
India.

2. Tropical easterly jet stream blows
over peninsular India during summer
months.

Which of the statements given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Consider the following pairs:

Recently Country
erupted volcanoes
1.  Marapi Japan
2. Mount Ulawun Papua
New Guinea
3. Mount Etna Italy

How many pairs given above are correctly
matched?

(a) Only one pair

(b) Only two pairs

(c) All three pairs

(d) None
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76. 9RA ¥ Wew@yol @S (Critical minerals) | 79. f=fafed g ® faur wifsw:
& Tay ° fefafea oA ) faer sifsu: SESIG) g T
1. onfow fasm wd U= e & fag 1. 39t UM oI
Hewaqul Gifs Tavas 2| 2. HUM™ ARES
2. Hewqul WSl &t YT hi wH G 3. TR : effewm
3t syt § Y@ (Vulnerabilities) Swie g ¥ 9 ey gafem 24
M el B (a) ael TH
3. UwES H HEwyU @ftsl § ¥ TH H (b) wHaa
w9 § qeIH T 2 (c) Tt &
St wer/me § 9 ferad e /272 L
(a) Fad TH 80. R % UG HIAl & Fay W, ffafed
(b) o < wHoAl R faEm wife:
(c) =t 1. SO B o e 9 A Sere fed B
(d) =i &l 2. M H HeH SR ud ded A &
< . ar fagga |
7 W.ﬁ < ® e : 3. SO W gHda qfF 2, fEe S
Tw T Eﬁﬁmﬁ ;' Izﬁ o 7 (Relief) & #7E forar 7 2
e e 3 STEE weUdl W | HE /" G 2?2
2. < uRa, < e R @ st (a) Fad 1
(Tri-junction) W feera 2 (b) HaA 1 R 2
3. WRET o R Svf W O # I W (c) Had 2 ¥R 3
feera €, qun Ty wd v 4 =fea (@ 1,2 3R3
! Sredr B 81. fmAfafad g W fa=w ifsw:
SutE wedl | o frad wEt 2/ ‘—rq‘T mﬁr{ﬁh
(a) Fad TH 1. =i : 3edlfesh HMR
(b) Had 2. TSR : it =t @t
(c) =+ = 3. &M : feqor =9 AR
(d) =hiE T S e H @ fe wE 2R
78. frefafgd sre W fo=r wifvg (a) el TH IH
1. geaft 1 ey (b) Ea T FH
2. R Sl UE YA YA gN S (c) et g
3. TREWRE S & T (d) =g Tl
4. gt w1 ufRH 82. W fF T @ W wAEW H <@l T,
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Swdh § ° B U SNk qL Umet i
guTferd L 27

(a) @Had 1, 2

(b) Had 2, 3, 4

(c) ®ad 1,2,3 s

(d 1,2,3,43R5

(28 - A)

T 94 @@ Td wyER o oy femum’
(Negligible snowfall) g3 2l 3@ Eed o
frfafea wol | foar wifaw:

1. SW-ufvedt 9Ra W g afvedt faeia

2. HSed oFa e feafaar
3. U& Yad S WH @i Iufefd
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Consider the following statements with

regard to the critical minerals in India:

1. Critical minerals are essential for
economic development and national
security.

2. The lack of availability of the critical
minerals may lead to supply chain
vulnerabilities.

3. Graphite has been identified as one of
the critical minerals.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements regarding

the mountain passes in India:

1. Bomdi-La links Sikkim with the
Tibetan capital, Lhasa.

2.  Diphu Pass lies at the tri-junction of
India, China, and Myanmar.

3.  Khardung La is situated north of Leh
in the Ladakh Range, and links the
Indus and Shyok river valleys.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following factors:

Gravity of the Earth

Heating by solar energy and wind flow
Density of ocean water

Revolution of the Earth

Coriolis force of the Earth

NANE I S e

Which of the above factors influence the
ocean currents?

(a) 1,2 only

(b) 2,3,4 only

(c) 1,2,3 and5 only

(d 1,2,3,4and 5

79.

80.

81.

82.

(29 - A)

Consider the following pairs:

Tribe Associated state
1. Apatanis Arunachal Pradesh
2. Santhal Jharkhand
3.  Irular Odisha

How many of the above pairs is/are correct?
(a) Only one

(b) Only two
(c) All three
(d) None

Consider the following statements regarding

the Northern Plains of India:

1.  Western part of northern plains has
Doabs

2. Ganga plains extend between Ghaggar
and Teesta rivers.

3. Northern plains are flat land with no
variations in its relief.

Which of the above statements is/are
correct?
(a) 1 only
(b) 1 and2 only
(c) 2and3 only
(d 1,2and3
Consider the following pairs:
River Flows into
1. Congo Atlantic Sea
2. Niger Gulf of Guinea
3.  Mekong South China Sea

How many of the above pairs is/are correct:
(a) Only one pair

(b) Only two pairs

(c) All three pairs

(d) None

As recently seen in the news, Ladakh

and Kashmir have witnessed negligible

snowfall this year. In this context, consider

the following:

1. Lack of intense Western Disturbances
over northwestern India

2. Strong El Nino conditions

3. Presence of a strong jet stream
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swiE § § feadt wiferfiat S o
fau SRR € Hehdt €7

(a) “hed TH

(b) Had

(c) 9t T

(d) =i T
Frefafeaa el T fa=m Hifve:

HeA-1: sl WA @'l (MHWs: Marine
heatwaves) ¥U% & fRaX T dow= i
sty B S T, wEAl @ s % o @
Tt 7

FeA-11: frsd &z ol o dfyas qoa 3

ST A @8U (Marine heatwaves) @i d1d

1 e 2

STE wYAl & ey H, efafed 7 9

A G Tl 8?2

(a) -1 3 HeA-11 I FE & 3
FHUA-1] Fo-1 1 & TR0 B

(b) wEA-1 3R HeH-11 <Al @& & SR
11, HA-1 1 & T T ©

(c) H¥A-1TE & AfhT HeF-11 Tord @

(d) HA-1TTed © iR HeA-11 Fel 2

frefafad el | foem Sifsu:

1. TEd 9 IR & o9 TR o
firerdt 21

2. HeRHd! oUE " W Bl oedl @l

3. TiEER W He o Were e o gl

SwE ®wu W W HiA /A GE 2/

(a) hae 1 3R 2

(b) a2 3R 3

(c) ad 1 3R 3

d 1,2 83

e oSl & Gy H, frAfafed so W

fa=m wifsa:

1. ¥R 3N % HHA I=d d98E (High
Temperature) T8 HY{ Tehdl & qe
IS ga1 | oFf I Hewdl 2

86.

87.

(30 — A)

2. 9Rd " | A A IHARA H Y
T ey feem @ o1 2

3. SR (Sorghum) T& Y@ HIEI 3N 2,
Sefeh ‘sheg’ (Buckwheat) Tk ‘®EH

AN

Al e’ (Pseudo millet) Bl

Suth wed d o frad @E /2

(a) “hed TH

(b) e

(c) @t =

(d) = T

‘Twardl’ & Ged d frafafed sl W

foaR ifee:

1. ‘dfewsy wfedeim wehardi’  (Extra-
Tropical Cyclones) ¥ T TI= IAM
JoTelt Bt € S SWieRfesig kel
o formm =& B B

2. IWRfcddd whad qd § U= &
I U=H ¥ qd hI R T 2

3. dfgwEw wfcddiy whaml w1 9Rd o
‘TR’ (Landfall) =& gian 21

Suth wedl d o frad wE /2

(a) “hed TH

(b) e

(c) @t =

(d) = T

e & gl o frefafaa ol w faem

EAISLES

1. THh IARA ATRdsH st srqufeerfa
o ‘st & i TEeor’ (Thermal
gasification of coal) §RI Bfal 2l

2. = fam yd & S €, TE SE e
EENEIE RIS

3. 9N H g ®9 9 WA qen e
erEeiiaEe B g

4. Ypfdes W & fawdd, @SSl W
ECiauii- oM o o

Sudt wu d 9 frad wEt 2/

(a) “hee TH

(b) oA

(c) wHad dA

(d) Fft =R
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How many of the above conditions can be
possibly responsible for it?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements

Statement-I: Marine heatwaves (MHWSs)
are periods of persistent warm ocean
temperatures that can last for weeks, months
or even years.

Statement-II: ~ Global  warming  has
intensified the MHWs in the past few
decades.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-I

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I s
Statement-II is correct.

incorrect but

Consider the following statements
1.  Gomti River joins the river Ganga near

Varanasi

2. Sabarmati flows through the Dharoi
gorge.

3. The largest tributary of the Godavari is
Pranhita.

Which among the following is/are correct ?
(a) 1and2 Only

(b) 2and 3 Only

(¢) 1and3 Only

(d 1,2and3

Consider the following statements regarding

the millets:

1. Millet crops
temperatures and grow on poor soils.

can withstand high

86.

87.

(31 -A)

2. Bajra consists of more than half of total
millets production in India.

3. Sorghum is a major millet while
Buckwheat is a pseudo millet.

How many of the above statement/s is/are

correct?

(a) Only one
(b) Only two
(c) All three
(d) None

With reference to the ‘Cyclones’, consider

the following statements:

1. Theextra-tropical cyclones have a clear
frontal system which is not present in
the tropical cyclones.

2. The tropical cyclones move from east
to west but the extra-tropical cyclones
move from west to east.

3. There is no landfall of extra-tropical
cyclones in India.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

With reference to the Biogas, consider the

following statements:

1. It is produced by thermal gasification
of coal in the absence of oxygen.

2. It burns without smoke, leaving no
residue like ash.

3. Biogas mainly consists of methane
and carbon dioxide.

4.  Unlike natural gas, it is considered as a

renewable source of energy.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(¢) Only three

(d) All four
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A W A TEER ¥ m T sany’

(Amaterasu) Y& Faifeeh fehed ¥ Gafed -

() Tk Afd-I=a-oel  wEnerE R
(Ultra-high-energy cosmic ray)|

(b) = I AERTE €Y W G fhe

(c) W% Wl ¥ ‘HeHR #aell’ (Mahseer
Fish) &1 T& Tenfae geifal

(d) TF ‘IywHEvesh  ®U' (Subatomic
particle) TS =@M (Mass) HreH
% 9uM fRg STEW (Charge) Soiae
% T R

‘fR wice FM&RYA (NFC) T+’ &
Tay ¥ ffafeg seml ® foar sifsa:
1. I8 T ‘9dR HER dedieh’ (Wireless

communication technology) g, S
T €9 9 IUROT & dd "R
H WEH HE o fAU e qan’
(Infrared waves) T ST It 2

2. B F@u (Data Transfer) & fag
‘TAUHE-gem 3UHIT T (NFC-enabled
devices) @1 @1 a1 wifass &7 ¥ e
& T W T TR H A
% IR M =i

3. UE w2y Sl @ ‘"dr geER fafuEr
F1 gor § w9 e 2

Suth wedl | W frad wE 2/
(a) oA Th
(b) FHaa I
(c) gt dH
(d) = Tl

I=d B dedfdeid (HDPE), dicifosd

FANEE (PVC) el Tieiiersdy vt Heifed 2

(a) SRR H ITAM fohy ST At 9gas
(Polymers)

(b) HIARTR H TIH TI-hRE A

(c) wIR=EF & YHR

(d) Tedlroes @iSie egeRit T

2023 1 Hifdeh! 1 Fee [EhR TRTH TS

(Attophysics) ¥ Hafed Yo Tldhl &

faera & AT ygM foham T ol 39 R

92.

93.

94.

(32 - A)

¥ ‘wifrfve’ & & § feu weweg

Iqcfey i A=Al fhefl?

(a) U SeFH FHUI F G

(b) =@ uRYsal (Higher precision)
WY T §99E  (Electron mass)
F AIUA B T Tty &1 foewm

(c) SoaH Tfaet (Electron dynamics) @1
AT FE & AU Yh & T
=g’ (Attosecond pulses ) gfod &
Tq WM alhi ol T

(d) SEHRM & FAER HI ATARA B 8q
Teh ¢ YR & ' F&ASE (Microscope)
1 3TfTe=h

Tt TereE qen e fagsd & ey

T, frfafea so | for wifaw:

1. <4 uiwaet #  wE ‘erfqfwmand’
(Reactions) IMHE Bt g TRATIEA
& A ! o8 <l B

2. TH @ AUH ®9 G arfvicaw o
IARA H YA TR S 21

3. SF H g A o Sl H Sl Wi ©

STh woAl H @ A G TSI HerdH
AR "fqepta foed & o= gurar 1 ¥el
U F 27

(a) Had 1

(b) w3

(c) a1 3R 3

(d 1,2 33

ga & o siusRdtett § e @1 ugen Hiay

qyalfd o (Synthetic embryo) fofad

fE 21 F6m g & dow # feAfafea

Ful 4 ¥ w9 wEl T 2?2

(a) ¥ JANRNEN ¥ HHE IR (Sperm )
qel e (Egg) whifviwrsti & =M
3R g fre S 2

(b) & A faewRl & g AR T vatdd
Mo (Miscarriage) & Sielsh RO
gagH ¥ Hereh o B g €

(c) 9 UHfdew AME gu & fawm™ @
ST L B

(d @ wHa 1d (Womb) &1 3TN fhy
fomm gfe fore <t 2

fr=fafed g9 | faur Fifeu:
9T T YUt : 29

1. oA Em : oIS

2. g : TIH T 3T

3. aﬁ?ﬁ@ﬁ(VSHORAD) IR
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The term ‘Amaterasu’, recently seen in the

news, is most closely related to:

(a) An ultra-high-energy cosmic ray.

(b) A genetically modified breed of
Chickpea.

(¢) An endemic specie of Mahseer Fish in
Palk bay.

(d) A subatomic particle that has mass
similar to proton but charge of an
electron.

Consider the following statements regarding
the 'Near Field Communication (NFC)
Technology',
. It is

technology that primarily uses infrared

a wireless communication

waves  to enable communication
between two devices.

2. NFC-enabled devices must be either
physically touching or within a few
centimetres from each other for data
transfer to occur.

3. It is less secure than other wireless
communication methods like

Bluetooth.

How many of the above statements is/are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

The terms HDPE, Polyvinyl Chloride, and
Polystyrene are related to:

(a) Polymers used in chemotherapy

(b) Harmful chemicals used in pesticides
(c) Types of plastics

(d) Secondary ozone depleting gases

The 2023 Nobel

was awarded for the development of

Prize in Physics

experimental methods related to attophysics.

92,

93.

9.

(33 - A)

What significant achievement in the field of

attophysics was recognized by this award?

(a) Discovery of new electron particles

(b) Development of a method to measure
electron mass with higher precision

(c) Creation of experimental methods to
generate attosecond pulses of light for
studying electron dynamics

(d) Invention of a new type of microscope

for observing electron behavior

Consider the following statements about

nuclear fusion and nuclear fission:

1. Both processes involve reactions that
alter the nucleus of atoms.

2. Both are widely used in commercial
power generation.

3. Both involve the conversion of mass
into energy.

Which of the above statements correctly

describe similarities between nuclear fusion
and nuclear fission?

(a) 1 only

(b) 3 only

(c) 1and3 only
(d 1,2and3

Recently, researchers have developed the

world's first synthetic embryo. Which of

the statements given below is mot correct
regarding synthetic embryos?

(a) They are created by fertilization of
human sperm and egg cells in the
laboratory.

(b) They can help in understanding the
impact of genetic disorders and the
biological causes of miscarriage.

(c) They mimic the development of
natural human embryos.

(d) They are created without using a
human womb.

Consider the following pairs:

Air defense Country
System

1. Iron Dome Israel

2. Patriot USA

3. VSHORAD India
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(d) 4, WHE IO TEER
: ) frefafgd 2 &1 T@M T "WEl ST H
95, frHfafEd wemi W fo=m wifaw: o
HeA-1: q-fEe ®a (Geostationary orbit) (a) ael 2 3R 3
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(d) FUE-17eT & WA FHor- 1T < Selaia’ (Consumer elecgonics) H
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(a) I8 @ H gig hdl g, ST (@) FI T
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(c) I& WY oem H Afyed ‘TE e () i T ’ '
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fuetmERRE (HPV) fr=fafea & 9 fog
I @ Heferd 22

(a) Tl

(b) wUeEfed it

(c) T Men HE (Cervical cancer)
(d) Tawfaw

(34 -A)

2. THH 45 (4G) ® go H & ‘factear’
(Latency) Bl 2

3. IE 45 (4G) H g H @Y A9
T (lesser frequency waves) ol
SYAN @ 2

T we § W R e

(a) el TH

(b) e

(c) @t =

(d) i T
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How many of the above pairs are correctly
matched?

(a) Only one pair

(b) Only two pairs

(c) All three pairs

(d) None

Consider the following statements:

Statement-I: Satellites in Geostationary
orbit appear to be stationary with respect to
earth’s surface.

Statement-I1I: Speed of Satellites in
Geostationary orbit is same as that of earth’s

speed of rotation.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-I

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is
Statement-II is correct.

incorrect but

Why does food cook faster in a pressure

cooker?

(a) It increases the pressure, raising the
boiling point of water

(b) It decreases the cooking temperature

(c) It adds more heat energy directly to the
food

(d) Tt reduces the pressure, lowering the
boiling point of water

Human papillomavirus (HPV), often seen
in the news, is related to which of the
following diseases?

(a) Rubella

(b) Hepatitis B

(c¢) Cervical cancer

(d) Syphilis

98.

99.

100.

(35 - A)

Generative artificial intelligence tools
are based on which of the following
technologies?

1. Large Language Models

2. Artificial neural networks

3. Blockchain

4.  Natural language processing

Select the correct answer using the code
given below:

(a) 2and 3 only

(b) 3 and 4 only

(¢) 1,2 and4 only

(d) 1,2,3and4 only

Consider the following statements regarding

'Solid State Batteries":

1. Solid state batteries use a solid
electrolyte instead ofaliquid electrolyte
found in lithium-ion batteries.

2. They have a higher energy density and
are potentially safer than traditional
lithium-ion batteries.

3. Solid state batteries are currently
widely used in all consumer electronics
due to their cost-effectiveness and ease
of manufacturing.

How many of the above statements is/are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

With reference to the 5G technology,

consider the following statements:

1. It will support massive machine to
machine communication.

. It has lower latency than 4G.

3. It wuses lesser frequency waves
compared to 4G.

How many of the statements given above is/
are correct?
(a) Onlyone

(b) Only two
(c) All three
(d) None
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CMD, NEXT IAS and MADE EASY Group Chief Advisor to NEXT IAS & MADE EASY Group

of NEXT IAS
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Enriched &
Quality Content

Renowned &
Experienced Faculties

Student
Centric Approach

Dedicated
Academic Coaches

* Quality teaching * Enriched & updated books * Personalised support * Backup for missed classes

+ Concept building * Daily & weekly current affairs analysis & PDFs * Mentoring & answer writing * Supportive learning ecosystem

* Thorough coverage « Monthly current affairs magazine * Doubt solving & motivation * Robust infrastructure

* Current based approach . AllIndia Pre & Mains test series * Weekly & monthly class tests * Technology enabled academic sphere
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Learn from top faculties

INDIAN ECONOMY HISTORY, ART & CULTURE
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Kapuria Sir Vibhas Jha Sir B. K. Reddy Sir Abhishek Parmar Sir R. C. Sinha Sir Mathimaran Raju Sir Rahul Sengar Sir

GEOGRAPHY
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Alok Ranjan Sir Sikandar Khan Sir Prashant Rathore Sir Ashish Kumar Sir Piyush Chaubey Sir Niraj Kumar Sir

POLITY
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ENVIRONMENT, IR, ESSAY & SOCIETY ETHICS AND CURRENT AFFAIRS
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A.P. Singh Sir Ruchika Ma’am Raj Rai Sir K. M. Pathi Sir Prince Luthra Sir Ravi Dutt Kaushik Sir
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SCIENCE TECH & GENERAL SCIENCE

GOVERNANCE & SECURITY
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Ayaz Khan Sir Mohit Sharma Sir Manjul Tiwari Sir Nitish Sharma Sir

GS FOUNDATION BATCHES FOR CSE 2025-26
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More batches

to be
announced
29" Jan 5" Feb | 15" Feb 19" Feb 1" Feb 29" Jan 5" Feb | 15" Feb soon.
8:00 AM-11:00 AM | 11:30 AM-2:30 PM | 6:00 PM-9:00 PM 5:30 PM-8:30 PM 5:00 PM-8:00 PM 8:00 AM-11:00 AM | 11:30 AM-2:30PM | 6:00 PM-9:00 PM

Scan to Enroll




ANUbhEV-3533 | General Studies (Paper-l) NEXTIAS

Space for Rough Work
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NEXT IAS 5056‘3‘57-5553 | All India Open Mock Test-2

Space for Rough Work
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ANUbhEV-3533 | General Studies (Paper-l) NEXTIAS

Space for Rough Work
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